SCREWTECH
Hi &l #h 8 @) 1k

N
(2)
H+0.2

Hr At Nl

75t

0.1
D 1/2 K3
<
}
Ll
Y
63
\:@_ \_z_c
1l
2xR 2-C

FNETRI# B IREBR AT




D BIRIFEIELFE

BS

PR

RELE

Fd

RS BIEBF BFIRLER
FRER &R RELIE R RERE
GDK-AKD BE® KEAL £ K SR SUM24L KB
P1 25/; 6.3
2-M1 o o /2 M (V/ )
() = ~ 2-C0.5
[ N
S U 2N U e i g
T ST 27C0.5— o ey/5s
> i T {. T
S A — m o) o
Pt : —
™
M1 W \dZ 2 2xR S
Y 35 — 1 [0.02[4]
D£0.1 [ 5 3 A L
NS d T D M M1 d2 P1 (F) (N) Y1 R W X Y S
GDK-AKD-08-28-12 8 28 12 5 M4 R 6 55 18 0.5 12 T 5.5 1.5 9.5 5.5 5
GDK-AKD-10-28-12 10 28 12 5 M4 R 6 55 18 0.5 12 T 5.5 1.5 9.5 5.5 -
GDK-AKD-12-32-12 12 32 12 5 M4 R 6 55 20 0.5 14 8.5 5.5 1.5 10.5 7.5 -
GDK-AKD-15-34-12 15 34 12 5 M4 R 6 55 20 0.5 14 10.5 5.5 1.5 11.5 8.5 -
GDK-AKD-16-36-12 16 36 12 5 M4 R 6 55 22 0.5 16 11 5.5 1.5 12.5 8.5 -
GDK-AKD-20-42-12 20 42 12 5 M5R 7.5 55 25 0.5 18 14 5.5 1.5 15.5 8.5 -
GDK-AKD-25-48-12 25 48 12 5 M5R 7.5 55 29 0.5 22 16.5 5.5 1.5 18 11 -
GDK-AKD-30-55-12 30 55 12 5 M5 R 7.5 55 30 0.5 23 20 5.5 1.5 20.5 135 -

@ www.screwtech.cn S 0512-66903936

GDH-AFC 2000 #5EER AERRE LA IE 2 MARAER (SUS)
25 ( 6.3/ )
2-C
|
|
>
n—
oo
co —
s
T
>
2-9d2 il
5 T/2 - 2-8H Vil 2—-MCHF1240)
< <
T£0.1
zlis d D T M d2 H C (W) X Y
GDH-AFC-08-30-12 8 30 12 M5 55 9 0.5 15 9 5
GDH-AFC-08-30-15 8 30 15 M6 6.6 12 0.5 15 9 5
GDH-AFC-10-30-10 10 30 10 M4 4.5 75 0.5 15 9 5
GDH-AFC-12-30-12 12 30 12 M5 55 9 0.5 15 10 5
GDH-AFC-15-35-12 15 35 12 M5 55 9 0.5 15 12 6
GDH-AFC-16-35-12 16 35 12 M5 55 9 0.5 15 12 6
GDH-AFC-20-45-15 20 45 15 M6 6.6 12 0.5 15 15 8
GDH-AFC-25-50-15 25 50 15 M6 6.6 12 0.5 15 18 10
GDH-AFC-30-55-15 30 55 15 M6 6.6 12 0.5 15 20 10
GDH-AFC-35-60-15 35 60 15 M6 6.6 12 1 2 23 12
GDH-AFC-40-70-18 40 70 18 M8 9 14 1 2 26 13
GDH-AFC-50-85-22 50 85 22 M10 11 18 1 3 32 16
GDH-AFC-60-95-22 60 95 22 M10 11 18 1 3 37 18
GDH-AFC-80-130-32 80 130 32 M16 18 26 1.5 5 50 22
GDH-AFC-100-150-36 100 150 36 M16 18 26 1.5 5 60 26
| @ www.screwtech.cn R 051266903936 002




RELE RELE
GDH-POC

1A ARE

GDH-UFC S45C e =R IRIPAR

2 DA7SAER (SUS)

GDH-SFC SUS304 -

2/ &/ 8

2—(:\
|
|
,,,,,, |,,,,,, >
oo g J.
oo —|— —— — H— — | 85
58 5 S
| (R
,,,,,,,,,,,, -
Fo———————=——=—= 6.5 /
i
2—2d2 #FL , .
A : 2-pH Fidl 2 MO FRL) MR . *
< < Y 2 T
T£0.1
RS d D T M d2 H C ) X Y MEFES  d2
GDH-UFC-08-18-09
GDH-POC-08-30-18 8 30 18 15 3 M6 7 6 15 9 5 7~10 0.5
CDHSEC 08,1809 8 18 9 M3 34 6 0.5 15 6.5 5
gg:gg&gjﬁ)}g o o 5 V3 24 . 05 s o5 5 GDH-POC-10-35-18 | 10 35 18 15 3 M6 7 6 15 10 6 8~125| 05
UFC 1238 GDH-POC-12-35-18 | 12 35 18 15 3 M6 7 6 15 11 6 9~125| 05
oo 12 28 1 M4 45 75 05 15 10 5
RS CETSE GDH-POC-13-35-18 | 13 35 18 15 3 M6 7 6 15 11 6 |10~125 05
Db 15 34 13 M5 55 9 0.5 15 125 6
GDH-SFC-15-34-13 GDH-POC-15-40-18 15 40 18 15 3 M6 7 6 15 13 8 11~13 1
GDH-UFC-16-34-13
GDH-SFC-16-34-13 16 34 13 M5 55 9 0.5 L5 125 6 GDH-POC-16-40-18 | 16 40 18 15 3 M6 7 6 15 13 8 11~13 1
GDH-UFC-2040-15
GDH-SFC-20-40-15 20 40 15 M6 6.6 12 0.5 15 147 7 GDH-POC-20-45-20 20 45 20 15 5 M6 7 6 15 15 8 13~15 1
GDH-UFC-25-45-15 GDH-POC-25-50-20 | 25 50 20 15 5 M6 7 6 15 18 10 16~18 1
CDHSHC o ae 1 25 45 15 M6 6.6 12 0.5 15 175 7
gg::g Eggggﬁg 20 o s Ve e 5 . L s 0 GDH-POC-30-55-20 | 30 55 20 15 5 M6 7 6 15 20 10 15~ 20 1
UFC35.57 GDH-POC-35-60-20 | 35 60 20 15 5 M6 7 6 2 23 12 |115~21] 1
UM i 35 57 15 M6 66 12 1 2 232 12
SR GDH-POC-40-70-23 | 40 70 23 18 5 M8 9 7 2 26 13 20~ 23 1
“Urt-au-60- 40 60 15 M6 6.6 12 1 2 25 13
GDH-SFC-40-60-15 GDH-POC-50-85-27 50 85 27 2 5 M10 11 9 2 32 16 25~ 28 1
GDH-UFC-50-78-19
CDHSHC2075.19 50 78 19 M8 9 14 1 3 k) 16

@ www.screwtech.cn S 0512-66903936 | @ www.screwtech.cn R 051266903936 004




zs

+0.05

D£0.1
d+0.01

—

6.3

[>]—

6.3

M( #BF4R4L )

P4
TR B RELE
GDH-UFC S45C PR = BRIRIPE 1 N7 AERR
GDH-SFC SUS304 - 1 N7 AR (SUS)
25/, 6.3
%(%)
2-C
S
2-C
_ |
k /&
#d2 EfL (W) MCHLZF S840)
2 gH UifL

gguig%_’ig_gigg 10 24 9 M3 3.4 0.5 85 5 15 8~10 6
ggugggﬁﬁ 12 28 11 M4 45 0.5 10 5 15 9~10 75
gg:’_gg&g’jﬁ:g 15 34 13 M5 5.5 0.5 125 6 15 11~13 9
gg:’_gg&gﬁig 16 34 13 M5 5.5 0.5 125 6 15 11~13 9
gg:zggﬁ:ﬁg:ﬁg:g 20 40 15 M6 6.6 05 14.7 7 15 13~15 12
gg:’_gg&gg’_’ﬁ_’g 25 45 15 M6 6.6 0.5 175 7 15 16~ 18 12
gg:zgﬁgﬁggﬁ_’g 30 54 15 M6 6.6 1 21.5 10 15 18 ~ 20 12
Consicaseras | B | 51 | 1 | we 65 ) 22 2 ) 1 2
Consrcaogons | 4 | e | 15 | we 65 ) 2 13 ) 21 2
EBEQEE;Z’SZS{S 50 78 19 M8 9 1 ) 16 3 23 14

@ www.screwtech.cn S 0512-66903936

== F
PR REVE
GDH-AOC 2000 &5sEEE ~ERREL 1 M7 (SUS)
25/, 6.5
% ( V/ )
2-C

A3

=85
% R, /
6.3,
[ 1 >
_ |
~— /‘&
T/2 #d2 @E‘L (W) MOHLA 1840
2 2 gH Jifl
m A T£0.1 Y
e d D M( $B5F 4847 ) C X Y w z H
GDH-AOC-06-20-12 6 20 12 M3 34 0.5 6 4 1 6 6
GDH-AOC-08-30-13 8 30 13 M4 4.5 0.5 9 5 15 8 75
GDH-AOC-10-30-13 10 30 13 M4 4.5 0.5 9 5 15 8 75
GDH-AOC-12-30-13 12 30 13 M4 4.5 0.5 10 5 15 9 75
GDH-AOC-13-35-13 13 35 13 M4 4.5 0.5 10 5 15 9 75
GDH-AOC-15-35-13 15 35 13 M4 4.5 0.5 115 6 15 10 75
GDH-AOC-16-35-13 16 35 13 M4 4.5 0.5 12 6 15 11 7.5
GDH-AOC-17-40-15 17 40 15 M4 4.5 0.5 12 6 1.5 11 7.5
GDH-AOC-18-40-15 18 40 15 M4 4.5 0.5 12 6 1.5 11 7.5
GDH-AOC-20-40-15 20 40 15 M4 4.5 0.5 14 7 1.5 13 7.5
GDH-AOC-22-45-15 22 45 15 M5 55 0.5 14 7 1.5 13 9
GDH-AOC-25-45-15 25 45 15 M5 55 0.5 17 7 15 16 9
GDH-AOC-28-50-18 28 50 18 M6 6 0.5 17 7 15 16 12
GDH-AOC-30-50-18 30 50 18 M6 6 0.5 20 10 15 18 12

| @ wwwscrewtech.cn R 0512-66903936 [N




D Bt FIm =R 3

REIE REAE
A =R 1 PMR7SARE (SUS) MOE L = SRR AR

GDH-AOC GDH-UOS 1 MikEEhige

& (&

~fFE====
4 —
\ IS EE——
g g
I S —
(2)
H+0
|
|
e
gi=iin
|
|
h
I
) E——
/
\
*j
'T)/'
@]

77777777777 [o]e) . _ + _
5 KJ
T£0.1 D*0.1

#IE: 35WARLL B 2R 22 AL

RE d D T M C
GDH-UOS-08-18-08 8 18 8 M5 0.5
GDH-UOS-10-20-09 10 20 9 M5 0.5
T  MHEFERY GDH-U0S-12-21-09 12 21 9 M5 05
GDH-ADC-08-30-15 | 8 30 15 M5 55 45 13 M3 8 7 15 10 6 05 8 GDH-U0S-14-25-10 14 25 10 M6 05
GDH-UOS-15-25-08 15 25 8 M6 0.5
GDH-ADC-10-35-15 | 10 35 15 M5 55 45 15 M4 10 7 15 115 6 05 10 DM UOS 16970 % - 5 o 0
GDH-ADC-12-35-15 | 12 35 15 M5 55 45 15 M4 10 7 15 115 6 05 12 GDH-UOS-18-30-09 18 30 9 M6 05
GDH-ADC-13-35-15 | 13 | 35 | 15 M5 55 45 15 M4 10 7 15 115 6 05 10 GDH-UOS-20-32-09 20 32 2 M6 05
GDH-U0S-22-35-10 22 35 10 M6 0.5
GDH-ADC-15-40-15 | 15 40 15 M6 7 6 17 M5 12 7 15 13 8 05 12 CDH-UOS25.38.11 > ™ 1 Vg 05
GDH-ADC-16-40-15 | 16 40 15 M6 7 6 17 M5 12 7 1.5 13 8 0.5 - GDH-UOS-28-41-12 28 41 12 M8 0.5
GDH-UOS-30-45-12 30 45 12 M8 1

GDH-ADC-18-45-15 | 18 45 15 M6 7 6 185 M5 15 9 15 15 8 05 -
GDH-UOS-32-49-14 32 49 14 M8 1
GDH-ADC-20-45-15 | 20 45 15 M6 7 6 185 M5 15 9 15 15 8 05 - GDH.UOS-3552.13 35 52 13 M10 1
GDH-ADC-25-50-15 | 25 50 15 M6 7 6 21 M5 20 10 15 18 10 05 - GDH-UOS-40-57-13 40 57 13 M10 1
GDH-UOS-45-65-14 45 65 14 M10 1
GDH-ADC-30-55-15 | 30 55 15 M6 7 6 235 M6 21 10 15 20 10 1 - O UOS 50714 = > " 10 T
GDH-ADC-35-60-15 | 35 60 15 M6 7 6 26 M6 23 10 2 23 12 1 . GDH-UOS-55-75-14 55 75 14 M10 1
GDH-ADC-40-70-18 | 40 70 18 M8 9 7 30 M6 26 12 2 26 13 1 - CDH-UOS-60-85-14 €0 8 14 M10 1
GDH-UOS-65-90-15 65 90 15 M10 1
GDH-ADC-50-85-22 | 50 85 2 M10 11 9 37 M8 28 13 3 32 16 1 - CDH-UOS-7095.15 70 % 5 V10 1
GDH-UOS-75-100-15 75 100 15 M12 1
GDH-UOS-80-110-14 80 110 14 M12 1
GDH-UOS-85-115-14 85 115 14 M12 1

@ www.screwtech.cn S 0512-66903936 | @ www.screwtech.cn R 051266903936 008




1EzhR 22 B FOAOR

8= EEF Wi 8=
trERY 154 RELIE FrAERY RELIE
GDH-UOP S45C MU = RIPEE 2 N IEBhiRZz GDH-AOCT 2000 R5EEEE KERRE L 1 MRS AR (SUS)
GDH-AOP 2000 R5EEE AEERE W LIE 2 N 1EBhiR2z (SUS)
25/ ,6.3
€( ﬁ) /2 -C
N
N R
~—
o 85 \
Oloo| 9%
T H & ¥2 - 2-C
-85 o 6.5
Bk = N -
AI'/
f
[A] I
[A]
- T1/2
ML B2 40)
T1£0.1
T/2 Y ~ ~y
L J0.02]4 / 2 2
Ny Ny +
< < D+0.1 A 201
T+0.1 dE3- 33 MBI LT A %
Re d D T d1 C LEENIRLE Mx KEE e d D T DS M ¥ F T1 d2 R w X Y z C
GDH-UOP-06-12-06
GDH-AOCT-08-14-28-11.5 8 25 115 14 M4 10 45 375 15 7 5 7~9 05
DM AOP 061206 6 12 6 11 0.2 M4x3
GDH-UOP-06-12-08 GDH-AOCT-10-14-30-115 | 10 30 115 14 M4 10 45 375 15 9 5 10 05
DM AOP 061208 6 12 8 11 0.2 M4x3
“JOP-08-14- GDH-AOCT-12-14-30-115 | 12 30 115 14 M4 10 45 375 15 10 5 10 05
gg:iggﬁg;ﬁgé 8 14 8 12 02 Mx3
GDH-AOCT-15-17-34-115 | 15 34 115 17 M4 10 45 375 15 115 6 12 05
GDH-UOP-10-16-08 10 16 8 13 02 M4x3
GDH-AOP-10-16-08 i GDH-AOCT-15-19-34-11.5 15 34 115 19 M4 10 45 3.75 15 115 6 12 05
GDH-UOP-12-20-08
GDH-AOP-12-20-08 12 20 8 15 0.5 Mox4 GDH-AOCT-1720-34-115 | 17 34 115 20 M4 10 45 375 15 115 6 1 05
GDH-UOP-13-22-08
GDH-AOP-13-22-08 13 22 8 18 0.5 M5x4 GDH-AOCT-17-21-34-115 | 17 34 115 21 M4 10 45 375 15 115 6 12 05
GDH-UOP-15-24-10 GDH-AOCT-20-23-40-14 20 40 14 23 M5 12 55 45 15 14 7 14 05
CDHAOP 159410 15 24 10 20 0.5 M4x3
GDH-UOP-16-26-10 GDH-AOCT-20-24-40-14 20 40 14 24 M5 12 55 45 15 14 7 14 05
CDHAOP 169610 16 26 10 2 0.5 M6x5
“JOP-18.30- GDH-AOCT-25-28-45-14 25 45 14 28 M5 12 55 45 15 17 10 17 05
M 18 2 10 27 05 M6x5
GDH-AOCT-25-29-45-14 25 45 14 29 M5 12 55 45 15 17 10 17 05
GDH-UOP-20-32-10 20 ) 10 27 05 M6x5
GDH-AOP-20-32-10 i GDH-AOCT-25-31-45-14 25 45 14 31 M5 12 55 45 15 17 10 17 0.5
GDH-UOP-25-38-12
GDH-AOP-25-38-12 25 38 12 31 0.5 M54 GDH-AOCT-30-33-55-17.5 | 30 55 175 33 M6 15 6.6 6 2 20 10 18 05
GDH-UOP-30-46-15
GDH-AOP-30-46-15 30 46 15 38 1 M8x6 GDH-AOCT-30-35-55-17.5 30 55 175 35 M6 15 6.6 6 2 20 10 18 0.5
GDH-UOP-35-50-15
CDHAOP 35201 35 50 15 40 1 M8x6
GDH-UOP-40-60-20
CDHAOP40-60.20 40 60 20 45 1 M10x8
GDH-UOP-50-70-22
CDHAOP-207027 50 70 2 55 1 M10x8

BE © wwwscrewtech.cn R 0512-66903936 | @ www.screwtech.cn R 051266903936 010




FFLIVR N E e B IR FL FEE B TR

S EER i S EER EfuES R FIRLTER
TRAER b i5 REIE HRAER b i5d REIE b 15 REBE 15 REIE
. w . ME =%k o . BB
R @ = Ay E . JER
GDH-UOCO $45C e AV TS GDH-UOKM $45C Pl = R SUM24L Mt
GDH-UOCM $45C rE BN a2 ie
e O
U
25/ ( 645/)
P P VASD
2—-C
T/Z
2—-M1 (4T I8L0) Z_CO.SX
n
N i
~| 8z |
(@] - f
+| 22| 6.3 i -
[mIgaet =)
2—co.5/—(—~—J‘—~—7H S¢
©
/?
~u
A - J- A
. 0
M LT S8 40) p —
e B 2xR 2
T£0.1
A 1 [0.02[4
D+0.1 I 5 A A5 W ]
M #H ZFIRLY ns d D T M $HSFIRLY M1 d2 P2 Y2 R W X Y Z
GDH-UOCO-06-16-09
GDH-UOKM-06-35-18 6 35 18 M6 M3 6.6 8 8 75 15 10 7 13~ 15
CDHUOCH06 1609 6 16 9 M3 34 0.5 5 5 3 11 3 M3 15 3
GDH-UOCO-08-18-09 GDH-UOKM-08-35-18 8 35 18 M6 M3 6.6 10 10 75 15 10 7 13~ 15
CDHUOCHL08.18.09 8 18 9 M3 34 0.5 7 7 3 135 45 M3 15 3
- 1024 GDH-UOKM-10-35-18 10 35 18 M6 M4 6.6 10 10 75 15 10 7 10~ 13
o e 10 24 9 M3 34 | 05 8 8 4 17 | a5 | w3 | 15 3
Dot s 1L GDH-UOKM-12-40-18 12 40 18 M6 M4 6.6 10 10 75 15 11 8 13~ 15
- Roted 12 28 11 M4 45 0.5 10 10 55 20 55 M5 15 3.75
GDH-UOCM-12-28-11 GDH-UOKM-15-44-18 15 44 18 M6 M5 6.6 12 12 75 15 13 10 |16~17
GDH-UOCO-15-34-13
GDH-UOCM-15-34-13 15 34 13 M5 59 0-5 12 12 6 2 5 M5 15 45 GDH-UOKM-16-44-18 16 44 18 M6 M5 66 % %) 75 15 13 10 |15~16
GDH-UOCO-16-34-13
GDH-UOCM-16-34-13 16 34 13 M5 5.5 05 12 12 6 25 5.5 M5 15 4.5 GDH-UOKM-20-48-18 20 48 18 M6 M5 6.6 14 14 75 15 15 12 | 17~18
GDH-UOCO-18-36-13
GDH-UOKM-25-60-18 25 60 18 M6 M5 6.6 16 21 75 15 18 18 | 2~24
COHUOCH 1836 13 18 36 13 M5 55 0.5 13 12 6 25 55 M5 15 45
GDH-UOCO-20-40-15 GDH-UOKM-30-70-18 30 70 18 M6 M6 6.6 20 25 75 15 21 23 |26~28
DM UOCN 2040 12 20 40 15 M6 6.6 0.5 15 15 6 30 6.6 M5 15 6
GDH-UOCO-25-45-15
COHUOCH 2o am 12 25 45 15 M6 6.6 0.5 16 16 6.5 35 6.6 M5 15 6
GDH-UOCO-30-54-15
COHUOCH 3024 12 30 54 15 M6 6.6 1 20 20 6.5 4 6.6 M6 15 6
GDH-UOCO-35-57-15
DM UOCH 3o a7 18 35 57 15 M6 6.6 1 2 2 6.5 46 6.6 M6 2 6
GDH-UOCO-40-60-15
DM UOCN 406012 40 60 15 M6 6.6 1 25 25 75 50 9 M6 2 6
GDH-UOCO-50-78-19
DM UOCH 2078 19 50 78 19 M8 9 1 30 30 10.5 64 11 M8 3 7

@ www.screwtech.cn S 0512-66903936 | @ www.screwtech.cn R 051266903936 012




wEERFE

EEIF EIEBF HBFIRLER

%15 RELE e RELE e REIE

=P = s RO
GDH-AOK [$B&% A2017 | ABFERE N, 22 R SUM24L YR ghE

VAC7A)
T/2
2—co.5\\
Te} T
9 ‘
|
|
g AT =
T 2-C0.5 —w—J‘—f— 6.3/59
P
= -
< \
el
M—"T1 W d2 2 2xR S
vl T+0.1
Y 3 T Jo.02[A]
D#0.1 [ 5 B AT R

M 8 R
GDH-AOK-06-35-18 6 35 18 M6 M3 6.6 7.5 15 10 7 13~15 7 13~15
GDH-AOK-08-35-19 8 35 18 M6 M3 6.6 7.5 15 10 7 13~15 7 13~15
GDH-AOK-10-35-20 10 35 18 M6 M4 6.6 7.5 15 10 7 10~13 7 10~13
GDH-AOK-12-35-21 12 40 18 M6 M4 6.6 7.5 15 11 8 13~15 8 13~15
GDH-AOK-15-35-22 15 44 18 M6 M5 6.6 7.5 15 13 10 16~ 17 10 16~ 17
GDH-AOK-16-35-23 16 44 18 M6 M5 6.6 7.5 15 13 10 15~16 10 15~16
GDH-AOK-20-35-24 20 48 18 M6 M5 6.6 7.5 15 15 12 17~18 12 17~18
GDH-AOK-25-35-25 25 60 18 M6 M5 6.6 7.5 15 18 18 22~24 18 22~24
GDH-AOK-30-35-26 30 70 18 M6 M6 6.6 7.5 15 21 23 26~28 23 26~28

& www.screwtech.cn - R 0512-66903936

HRlE B IRE B RAE

SCREW TECHNOLOGY CO.,LTD.

TR

HinE ST AE AN RAP X REL88S E il i FE BiES &g
FB3%:0512-66903936

mBFE : screwtech@screwtech.cn

WULE : http://www.screwtech.cn/

V-1.0.4-20201028




